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250cc
FrhI6EF 175 185 195 =3 2ME =3 PRE=S 245 255
IEEE A 306 245 192 200 187 182 193 1849 170 164
BEEEE (AL 2,693 2,574 2,328 2,205 1,402 1,829 1,819 1,682 1,708 1,665
FIEEEE (A 76,068 | 75,550 | 72,232 | 70,492 | 62,610 | 59,946 | 59,767 | 56,698 | 56,569 [ 54,542
I3 = = 0.40% 0.42% n.27% 0,288 0.30% 0.30% 0.32% 0.33% 0.30% 0.30%
& £ = 4.55% 9.42% q.23% 2,148 3.05% 3.06% 2.05% 2.98% 3.02% 3.06%
- BEEE 3.94% 3.74% 3.49% 3.41% 3.34% 3.35% 3.37% 3.30% 3.42% 3.458




FileE | 17F k3 195 20 21 a3 235F 245 plit=d
EEE (A 1 42 25 27 21 21 27 a6 a2 1
EEEE (A 254 201 180 183 139 181 158 163 14 180
ETEEEE (A 4,782 3,545 4,625 4,738 1,193 4,800 4,757 3,563 4,594 4,428
3k T E3 1.74% 1.17% 0.649% 0.72% 0.BB% 0.58% 0.72% 1.01% 0.89% 1.20%
= % E3 F.99% 5.BEE 5.00% 4.93% 4.38% 4,508 4.18% 4.82% 4,108 5.31%
B - EEFE 0.55% B.76% 5.BEY 5.E2% 5.01% 5.06% 4.87% 5.50% 4,95% f.45%
FRGIBE | 17E f:F=3 198 ME HE =3 k=3 245 it
—fzBEERE 7.58 g.1% 7.58 g.8% an.e% 23.5% an. 1% an.2% an.2% a5.1%
e H S A 11.5% 5.8% 12.7% 13.5% B2.5% B3, 4% B3 78 R3.5% Bh. 4% 2%
10
24 25 31
ERIE M= =3 235 245 2hEE
EHEEEFEEREERE () 0 ) g 12 § ]
EEEEE g TEmER P 0 ] 0 ] 0 ]
FRRIGE | 17E 185 198 it~ HE k= 2 b= plik=
TIPS () 21 41 a0 18 15 15 10 8 1 ]
IEEE CAD 1] 1 1 1] 1 1] 0 1 0 1]
BiBEE (A 25 45 az 14 18 18 10 ] 1 ]
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